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D-DE4 red slopes are the

Consider the differential equation g% =1 good ones, i dun goofed

yZ
3. On the axes provided, sketch a slope field at the points indicated.

4. While only some points are graphed, the slope field
drawn in the previous problem is defined for many others. N %‘hﬂ —_— .
Describe all points in the xy-plane that have negative slope.
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5. Choose the differential equation that could be represented by the given slope field.

d d
ATy A I D
"/VC)QI—x—y D)%=x+y "
(/J R
0.5
Ver & re(/eseah.(-r'u p b < \‘1 o o
i = 1 2 x
frtc
% . -y / /
rnla | £ ] | O
-15
(i) ] ///0/2' = 4L R~ b
l-—'—/._‘



mohyuddin_n
Text Box
red slopes are the 
good ones, i dun goofed

mohyuddin_n
Text Box

mohyuddin_n
Text Box


Lﬁ //(«[/JMJ’ /U - o
D-DE1 Practice Assessment —

1. An illness is spreading through a population of \' people. Let R represent the number of people with
the illness. The rate with. respect to time of people with the 1Hnes@owmg is dlrectly proportlonal to
L iy
the product of the number of people with the illness and the square rootl of the populatlon size. Write a
differential equation that dodels this situation. _— f i

4K ,
T’c = k (\ YN

D-DE3:
2. Consider the differential equation y’ = 2y — 3. Find the general solution y.
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D-DE2: Consider the differential equation o 4y“x

3. Find the particular solution with initial condition {1,1/3)
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